Factorising and Expanding.
In questions 1 to 15, factorise fully.
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In questions 16 to 18, use expansion to solve the problems.

	16. Two rectangles are shown. Find the difference between their areas in terms of x.

	



	17. The diagram shows a garden surrounded by a path of width x metres. Find the area of the garden (shaded) in terms of x.


	



	18. The diagram shows an L-shape. Find its area in terms of x.


	




The remaining questions are beyond the scope of GCSE – can you answer them?

19. Expand 
[image: image16.wmf](3)(2)(1)

xxx

+++


20. Expand 
[image: image17.wmf](21)(31)(3)

xxx

-++


21. Factorise 
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(HINT: You need three brackets)
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